EA IR R TRl S - G-
107 & &£ B3 b’“rlz’ﬁ—,l_fla‘é’»i < R
Cil A S RN
o <6f9)

AR a ARME T M £ 1004
b. v B w44

c. ¥ 2 ngETJ’j-J—BEg%— 2. F A IR R

4L

1. g]( )F" 3 «uml %;u/rl ﬁi%} ’ ?j‘u X1,X2 F" /J "“m}q’L ﬁt‘ :Q;: ’ F‘é(a)z‘ 7T :h' /‘4 L
S G ALR o (S%) (b)He kS 7 AR & 4 A %) 3 o (S%) (7R

70t S L R HR 2T Il eha e b R 7

(10%)
2
_———__'-_———-__ _
Io 1 A_] ) b 5_1 -=] O
‘-\\.,____‘_____.//XZ \ __‘____/Xl ¥
-a -2
B(-)
Q. & Mo S AR N G
d*y(t) d*y(t } dy(t) d*y(0) dy(0)
dta + 3k ——— Cir.t2 ck -+ 2}_ -+ 4}’@} usct}! Cﬁ:z - l:?
=k, ¥(0) = kg

(@) 70 4 e 4230 o (5%) (b)iEA 17 & S T eiE 2 2 (15%)

R Ao KPR R Ik sLani it 2 (20%)



$-F

4. (a)iFH#-RI(Z ) 5 sen™ BLREH B 5028 o (5%) (b) #35 Mg Sk
Y6/Y2 - (15%)

»| G5
+y
4 Y5 + Y6
G2 G3 »| G4 —»(P_—_I—b
- H4
H2
B(=)
L e _ 108 . . JPP
5. @ wRI(=) % -meCS}—m H(S) = 7 w0 b I P2 R
£ o (20%)
U(Ss) + Y(S)
—.O—b G(S) ]—D
T—-H(s;)
Bl(=)



